

County Distribution Detail Report through 02/01/2022

Aurora

Adioid									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,422	1,950	31	3,403	\$4,253.75	\$137.25	\$4,116.50	0.70	\$2,881.55
							Entity Tot	al:	\$2,881.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,881.55
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	3,265	10,760	484	14,509	\$18,136.25	\$377.57	\$17,758.68	0.70	\$12,431.08
							Entity Tot	al:	\$12,431.08
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,431.08
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	861	1,259	6	2,126	\$2,657.50	\$57.81	\$2,599.69	0.70	\$1,819.78
							Entity Tot	al:	\$1,819.78
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,819.78
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,668	4,036	10	5,714	\$7,142.50	\$142.86	\$6,999.64	0.70	\$4,899.75
							Entity Tot	al:	\$4,899.75

\$0.00

Adjustment:

Total Amount: \$4,899.7
Total Amount: \$4,899.7

Brookings	
-----------	--

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	10,236	21,844	229	32,309	\$40,386.25	\$834.37	\$39,551.88	0.70	\$27,686.32
							Entity Tota	al:	\$27,686.32
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$27,686.32
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	8,376	26,849	596	35,821	\$44,776.25	\$951.06	\$43,825.19	0.70	\$30,677.63
							Entity Tota	al:	\$30,677.63
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$30,677.63
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,113	3,754	77	5,944	\$7,430.00	\$149.41	\$7,280.59	0.70	\$5,096.41
							Entity Tota	al:	\$5,096.41
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$5,096.41
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	513	474	2	989	\$1,236.25	\$25.94	\$1,210.31	0.70	\$847.22
							Entity Tota	al:	\$847.22
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$847.22
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,119	6,601	50	8,770	\$10,962.50	\$232.93	\$10,729.57	0.70	\$7,510.70

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,510.70
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	624	1,407	14	2,045	\$2,556.25	\$52.36	\$2,503.89	0.70	\$1,752.72
							Entity Tota	al:	\$1,752.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,752.72
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,418	5,629	24	8,071	\$10,088.75	\$203.39	\$9,885.36	0.70	\$6,919.75
							Entity Total	al:	\$6,919.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,919.75
City of Box Elder, Me	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	39	3,017	109	3,165	\$3,956.25	\$79.31	\$3,876.94	0.70	\$2,713.86
							Entity Total	al:	\$2,713.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,713.86
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	593	2,834	88	3,515	\$4,393.75	\$101.40	\$4,292.35	0.70	\$3,004.65
							Entity Tota	al:	\$3,004.65
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,004.65
City of Pierre, Hughe	es Co.								

Entity Total:

\$7,510.70

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	3,252	11,558	155	14,965	\$18,706.25	\$381.52	\$18,324.73	0.70	\$12,827.31
							Entity Tota	al:	\$12,827.31
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$12,827.31
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	4,565	27,073	2,670	34,308	\$42,885.00	\$873.36	\$42,011.64	0.70	\$29,408.15
							Entity Tota	al:	\$29,408.15
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$29,408.15
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,163	2,361	89	3,613	\$4,516.25	\$93.82	\$4,422.43	0.70	\$3,095.70
							Entity Tota	al:	\$3,095.70
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,095.70
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,586	7,748	245	9,579	\$11,973.75	\$254.02	\$11,719.73	0.70	\$8,203.81
							Entity Tota	al:	\$8,203.81
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$8,203.81
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	6,363	19,487	1,116	26,966	\$33,707.50	\$704.26	\$33,003.24	0.70	\$23,102.27
							Entity Tota	al:	\$23,102.27

	Adjustment:	\$0.00
	Total Amount:	\$23,102.27
Corson		

Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	972	807	305	2,084	\$2,605.00	\$52.89	\$2,552.11	0.70	\$1,786.48
							Entity Tota	l:	\$1,786.48
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,786.48
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,985	6,133	54	9,172	\$11,465.00	\$250.11	\$11,214.89	0.70	\$7,850.42
							Entity Tota	l:	\$7,850.42
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,850.42
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	4,397	14,273	310	18,980	\$23,725.00	\$490.23	\$23,234.77	0.70	\$16,264.34
							Entity Tota	l:	\$16,264.34
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$16,264.34
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,753	3,571	60	5,384	\$6,730.00	\$135.85	\$6,594.15	0.70	\$4,615.91
							Entity Tota	l:	\$4,615.91
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,615.91
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2021	1,513	2,953	95	4,561	\$5,701.25	\$121.77	\$5,579.48	0.70	\$3,905.64
							Entity Tota	al:	\$3,905.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,905.64
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,059	2,152	17	3,228	\$4,035.00	\$83.76	\$3,951.24	0.70	\$2,765.87
							Entity Tota	al:	\$2,765.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,765.87
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,129	2,937	51	4,117	\$5,146.25	\$103.07	\$5,043.18	0.70	\$3,530.23
							Entity Tota	al:	\$3,530.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,530.23
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,698	4,803	37	7,538	\$9,422.50	\$186.26	\$9,236.24	0.70	\$6,465.37
							Entity Tota	al:	\$6,465.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,465.37
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	682	1,500	27	2,209	\$2,761.25	\$56.34	\$2,704.91	0.70	\$1,893.44
							Entity Tota	al:	\$1,893.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,893.44

C	ra	nŧ	
	14		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,755	5,356	60	7,171	\$8,963.75	\$181.10	\$8,782.65	0.70	\$6,147.86
							Entity Tot	al:	\$6,147.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,147.86
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,516	3,511	11	5,038	\$6,297.50	\$136.98	\$6,160.52	0.70	\$4,312.36
							Entity Tot	al:	\$4,312.36
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,312.36
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	931	1,342	6	2,279	\$2,848.75	\$57.00	\$2,791.75	0.70	\$1,954.23
							Entity Tot	al:	\$1,954.23
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,954.23
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,406	3,974	44	5,424	\$6,780.00	\$134.88	\$6,645.12	0.70	\$4,651.58
							Entity Tot	al:	\$4,651.58
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,651.58
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	936	2,620	31	3,587	\$4,483.75	\$98.58	\$4,385.17	0.70	\$3,069.62

							Aujustine	III.	φυ.υυ
							Total Amo	ount:	\$3,069.62
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	781	3,080	754	4,615	\$5,768.75	\$114.44	\$5,654.31	0.70	\$3,958.02
							Entity Tota	al:	\$3,958.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,958.02
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	632	856	2	1,490	\$1,862.50	\$47.68	\$1,814.82	0.70	\$1,270.37
							Entity Tota	al:	\$1,270.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,270.37
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	575	3,119	189	3,883	\$4,853.75	\$140.19	\$4,713.56	0.70	\$3,299.49
							Entity Tota	al:	\$3,299.49
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,299.49
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,580	5,147	51	7,778	\$9,722.50	\$208.44	\$9,514.06	0.70	\$6,659.84
							Entity Tota	al:	\$6,659.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,659.84
Hyde									

Entity Total:

Adjustment:

\$3,069.62

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	574	1,089	12	1,675	\$2,093.75	\$42.35	\$2,051.40	0.70	\$1,435.98
							Entity Tota	ıl:	\$1,435.98
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,435.98
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	550	854	11	1,415	\$1,768.75	\$34.99	\$1,733.76	0.70	\$1,213.63
							Entity Tota	ıl:	\$1,213.63
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,213.63
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	744	1,328	14	2,086	\$2,607.50	\$51.76	\$2,555.74	0.70	\$1,789.02
							Entity Tota	ıl:	\$1,789.02
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,789.02
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	476	734	5	1,215	\$1,518.75	\$30.46	\$1,488.29	0.70	\$1,041.80
							Entity Tota	ıl:	\$1,041.80
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,041.80
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,063	3,975	94	5,132	\$6,415.00	\$149.83	\$6,265.17	0.70	\$4,385.62
							Entity Tota	ıl:	\$4,385.62
							Adjustmen	ıt:	\$0.00

							Total Amo	unt:	\$4,385.62
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,363	9,107	161	11,631	\$14,538.75	\$297.16	\$14,241.59	0.70	\$9,969.11
							Entity Tota	al:	\$9,969.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$9,969.11
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	6,811	17,993	1,181	25,985	\$32,481.25	\$667.88	\$31,813.37	0.70	\$22,269.36
							Entity Tota	al:	\$22,269.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,269.36
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	3,331	24,332	1,642	29,305	\$36,631.25	\$832.16	\$35,799.09	0.70	\$25,059.36
							Entity Tota	nl:	\$25,059.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$25,059.36
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,009	1,836	347	3,192	\$3,990.00	\$84.71	\$3,905.29	0.70	\$2,733.70
							Entity Tota	al:	\$2,733.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,733.70
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,377	2,888	36	4,301	\$5,376.25	\$113.70	\$5,262.55	0.70	\$3,683.79

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,683.79
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,802	4,245	19	6,066	\$7,582.50	\$155.66	\$7,426.84	0.70	\$5,198.79
							Entity Tota	al:	\$5,198.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,198.79
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	880	1,554	6	2,440	\$3,050.00	\$71.94	\$2,978.06	0.70	\$2,084.64
							Entity Tota	al:	\$2,084.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,084.64
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,896	18,785	171	21,852	\$27,315.00	\$557.63	\$26,757.37	0.70	\$18,730.16
							Entity Tota	al:	\$18,730.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,730.16
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	543	743	4	1,290	\$1,612.50	\$31.84	\$1,580.66	0.70	\$1,106.46
							Entity Tota	al:	\$1,106.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,106.46
Miner									

Entity Total:

\$3,683.79

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	920	1,647	23	2,590	\$3,237.50	\$69.72	\$3,167.78	0.70	\$2,217.45
							Entity Tota	ıl:	\$2,217.45
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,217.45
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	36,622	156,921	5,349	198,892	\$248,615.00	\$5,234.70	\$243,380.30	0.70	\$170,366.21
							Entity Tota	ıl:	\$170,366.21
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$170,366.21
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,088	4,680	120	5,888	\$7,360.00	\$176.64	\$7,183.36	0.70	\$5,028.35
							Entity Tota	ıl:	\$5,028.35
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,028.35
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	22,445	85,870	2,688	111,003	\$138,753.75	\$2,849.65	\$135,904.10	0.70	\$95,132.87
							Entity Tota	ıl:	\$95,132.87
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$95,132.87
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,634	2,271	15	3,920	\$4,900.00	\$107.41	\$4,792.59	0.70	\$3,354.81
							Entity Tota	ıl:	\$3,354.81

	Adjustment:	\$0.00
	Total Amount:	\$3,354.81
Potter		

Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	996	1,856	17	2,869	\$3,586.25	\$71.49	\$3,514.76	0.70	\$2,460.33
							Entity Tota	ıl:	\$2,460.33
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,460.33
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	3,045	5,247	26	8,318	\$10,397.50	\$229.84	\$10,167.66	0.70	\$7,117.36
							Entity Tota	ıl:	\$7,117.36
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,117.36
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	720	1,799	16	2,535	\$3,168.75	\$64.28	\$3,104.47	0.70	\$2,173.13
							Entity Tota	ıl:	\$2,173.13
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,173.13
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,625	4,554	80	6,259	\$7,823.75	\$161.85	\$7,661.90	0.70	\$5,363.33
							Entity Tota	ıl:	\$5,363.33
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,363.33
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2021	646	2,232	65	2,943	\$3,678.75	\$78.25	\$3,600.50	0.70	\$2,520.35
							Entity Tota	ıl:	\$2,520.35
							Adjustmen		\$0.00
							Total Amo		\$2,520.35
Sully									4=,0=0.00
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	556	1,184	4	1,744	\$2,180.00	\$44.30	\$2,135.70	0.70	\$1,494.99
							Entity Tota	l:	\$1,494.99
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,494.99
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	0	110	3	113	\$141.25	\$2.06	\$139.19	0.70	\$97.43
							Entity Tota	l:	\$97.43
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$97.43
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,072	4,000	44	6,116	\$7,645.00	\$156.83	\$7,488.17	0.70	\$5,241.72
							Entity Tota	l:	\$5,241.72
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,241.72
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,881	6,454	33	8,368	\$10,460.00	\$209.88	\$10,250.12	0.70	\$7,175.08
							Entity Tota	l:	\$7,175.08
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,175.08

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	2,494	11,392	451	14,337	\$17,921.25	\$445.52	\$17,475.73	0.70	\$12,233.01
							Entity Tota	al:	\$12,233.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,233.01
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	1,703	3,544	229	5,476	\$6,845.00	\$138.71	\$6,706.29	0.70	\$4,694.40
							Entity Tota	al:	\$4,694.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,694.40
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2021	4,549	16,702	515	21,766	\$27,207.50	\$572.50	\$26,635.00	0.70	\$18,644.50
							Entity Tota	al:	\$18,644.50
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,644.50
TOTALS	186,891	626,701	21,480	835,072	\$1,043,840.00	\$21,987.91	\$1,021,852.09		